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Integral sinx/sinx-cosx

The number of pi bonds in benzene is

Integral tan”-1(2x/1-x"2)

Treatment of alcohol with Ester gives

What are the direction ratios of lines x-y+z-5=0=x-3y-6?
What is the bond order of superoxide?

Hybridization of [SF6]& [BrF5]?

Solve: dy/dx=y/x +tany/x

"2 cot(A/2)cot(B/2)cot(C/2)=k, then what is k?

What is coffecient of X2 in (1-ax-x"2)e"-x

What is force on block of mass 1.6kg and spring extension 8cm and acceleration due

to gravity is 10?
In bohr model of atom, what is angular momentum from n=5 to n=1?
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